MathsMind 2013-07-15
Year 10

Answers

	Question
	Answer

	20
	24 minutes   Units not required

	19
	3125

	18
	8/36=4/18=2/9

	17
	1600 km   Units not required

	16
	29

	15
	17 

	14
	(9 , 6)    (13 , 14) (13,12) is correct answer!, Both required.

	13
	4

	12
	13.4    Units not required, hope they have a calculator

	11
	100

	10
	34

	9
	7.5 km   Units not required

	8
	1177 slight rewording, could ask how many voted no.

	7
	32 cm

	6
	49 cm2  289 cm2

	5
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19

 or equivalent ( eg 95/400) reworded Q.

	4
	2035

	3
	69 m    Units not required (actual answer 69.444444)

	2
	92

	1
	$221   Dollar sign not required.


Question 6

Changed problem as answer was wrong. So was 14

Correct answers below.

	Question
	Answer

	20
	24 minutes   Units not required

	19
	3125

	18
	8/36=4/18=2/9

	17
	1600 km   Units not required

	16
	29

	15
	17 

	14
	(9 , 6)  and (13,12) Both required.

	13
	4

	12
	13.4    Units not required

	11
	100

	10
	34

	9
	7.5 km   Units not required

	8
	1177

	7
	32 cm

	6
	289 cm2

	5
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19

 or equivalent ( eg 95/400) 

	4
	2035

	3
	69 m    Units not required (actual answer 69.444444)

	2
	92

	1
	$221   Dollar sign not required.
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